Lesson Notes 6-3 Solving by Substitution Part I

Recall, the solution to a linear system is an ordered pair and must satisfy both equations
in the system. To use the substitution method we must isolate one variable in one
equation and substitute it into the other equation.

1. Rearrange each equation to isolate for y:
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2. Substitute d = 12 into each equation, then solve for X2

(b) 2y -4x+12=0
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Example: Solve the fo%owing linear system using the sub%titution method:
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1. Isolate for a variable in one equation. / ’[ X +i!
(Does not matter which equation or variable) 02 M+ \f — , |

2. Substitute this new equation into the other equation not used yet. Q)\/ ~ { ~Xt C?( ) - l (

3. Solve for the variable. X fﬁ:ﬁm{j{\
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4. Find the value of the other variable. ).~ (,

Examples:

1. x-y=7 Y"}l—'ﬂf 2. 2xfy=2- ‘y——ff2><+52 |

2% +y=-10 3x-2y=10 =
;//F\‘;\J{» 0 il e ’,C/\ ¢;X’,2ﬁ+23 = (O

.QY i 1 ‘L"’*\/ = — O ‘/g.}(’«('L[X _ L{ =3 s
7&”:ﬁ:u9
L(

Byf o —;‘/O e
302 | Ll
55 X8 "

_ -9 X151 X=4&
e = | HD ey =2
! L{*f\/ _2

12 =4

1:‘\ ,(\

\

<

A A A AR ARA A A A RA AR AR AR AR AR AR AK &

NOOO O OO0 OOOOOaOs




